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Subject Code: 003 o

Full Marks: 200
Time: 4 hours

Part A

Read the passage below and ansyer the question nos. 1-7 that follow:
As we enter the third year pf :jE‘;:G\’IDJ'J' pandemic, public health jeaders musQUlake stock oLWhere we

are and how we can end thelcrippling hold that the SARS-CoV-2 virus has over ys gllked Il pandemics end. The
COVID-19 pandemic will end too, but it is not over yet. Already we have wo years of missed
opportunities, missed education, missed connections with family and loved ones Wilhout action, 2022 could

be the same. But it doesn't have to be

The virus will continue to affect our lives and livelihoods unless the global community collectively
addresses inequitable access to vaceines, therapeutic ggents and diggnostics, as well as the fact that we are
giving the SARS-CoV-2 virus the room it needs to @ rough @ nd inconsistent international as well
as national policies 1o reduce transmission, some of Which are undérmined by division and politicization. At
the same time, governments Must invest in preparedness, prevention and in science. :

One of the greatest scientific achievements during the pandemic has been the speed of the development
of several safe and effective COVID-19 vaccines. Robust data continue to show that COVID-19 vaccines are
very effective in preventing people from getting seriously ill and dying. This protection seems to be
maintained against the more transmissible Delta variant and over time.

However, we continue (0 § i I‘g jdgs in Bccels
billion doses administered so fa i ‘ h
Health Organization (WHO) has recommended that thosd al g
be prioritised for COVID-19 vaccination in all :ﬂum;i;ﬁ- inistered by the end of
September 2021 was enough to have covered 40% o the population in all countries. The failure 1o provide
access of sufficient doses of vaccines to low- and middle-income countries is not only unethical but also
epidemiologically and economically unwise, and it is prolonging the pandemic, www.prebd.com - |

‘ 9 vaccines. OF the more than 7
& African continent. The World
Severe diseask and health w

Unfortunately, vaccines alone will not end this pandemic, in part because of more transmissible new
variants and also because vaccines are primarily designed to protect against severe disease and death. The
more the virus is allowed to circulate, the more opportunity the virus has to evolve. Throughout the course of
the pandemic, SARS-CoV-2 has shown its ability 1o become better adapted to the human host, with variants

Alpha and Delta dergonstrating enhanced transmissibility. One of the biggest unknowns in 2022 will be how
this evolution continues.

In 2022, epidemiological and genomic gun-ufilnncc efforts should be expanded in all countries to detect
SARS-CoV-2 variants and ensure that robust testing sySI€ms are linked (o public health action. As we track
the evolution of the virus, WHO and partners will confini€ 1o clogely pssess and monitor the effect of virus

evolution on public health and medical countermeasties, including dingnostics, therapeutic agents and
COVID-19 vaceines,

Preparedness for the next pandemic of pandemic patiogen doeg begin when the current emergency is
over. It begins now with jnvesting in integrated respIratory diseage gy eiyjynce, o well-protected work force,
early clinical care, access 10 health care, better pﬂ’?ﬂ" Protective equipment, further rescarch and
development for dingnostics, therapeutics and VACEINeS, U addresging 1ong.standing inequalities. This will
not only help to control COVID-19 but also ensure that "2 better position to confront the next outbreak,

[Please turn over]



1,

2.

%

Answer the following questions in your @i words withoul copying

passage above:

(a)  What topic docs the given assipe deal witlyy
(b)  What has the whole world heen enering: fop tlie st pwo years?

(€)  What do you think the panddenie sition wonlkl le like next tnless appropriste collective
measures are taken?

(d) How has the SARS-C'oV-2 virus been Bhven spice (o spread?
(€)  Cite an example of inequity in aecess o COVID-19 vpegines.
(D Who belonged to the priority groups for the COVID-19 vaccination according to WO

recommendations? www.prebd.com
(g)  What has been the effeets of the fnilure to ensure suflicient aceess 1o vaceings in low- und
middle-income countries?

(h) Why are not vaccines alone sufficient 1o put an end to the COVIN-19 pandemic?

(1) Name the arcas that will be continuously assessed and monitored by WHO and partners.

any sentences from the

(j) What measures should be taken to ensure a better position to tuckle the next outbreak?

Write the meanings of the following words in English as used in the passage (The words are

Hello BCS

underlined):
(a) inequitable
(b

robust

L

(c) transmissible

(d) persistent
(e) pathogen

Fill in the empty cells with words indicating appropriate parts of speech:

Noun Verb Adjective
x thrive (a)
(b) “ —-__incumistcm
(c) assess | %
access (d) B i =
(€) reduce |

4, «Give an antonym for each of the fn:nllu;;‘i.,,ﬂi,.,,E words and make sentences with the antonyms:

(a) severe
(b) ecrippling
(c) prolong
{(d) sufficient
(e) protect

Murks
1= 10 W0

1 %53

I X5=5

2x5=10



Marks

i 1%10=10
5. Make sentences of your own with cach of the following wor 4s and phrases {Copying any

sentences from the passage above must be avoided):
(a) take stock of

(b) endure

(c) affect

(d) uneven

(e) undermine

(f) preparedness

(g) failure

(h) unethical

(i) throughout

(i) as well as

20

6. Summarize the passage in your own words (within 100 words).

7. Write a letter to the editor of an English daily suggesting measures [0 be taken to effectively deal 20

with the next pandemic.

Part B

8, Write an essay in about 1000 words on any one of the following LOpICS:
's Birth Centenary

(a) Mujib Year: The G lebratipn, of Bangahand _
(b) Global Competences g{: her : |
:i T A LS

(c) Socio-Economic Impact 0 1tan

9, Translate the following text into Bangla: 25

Reliable infrastructure plays a key role in economic growth. Studies have found positive
relationship between infrastructure and economic output in many countries, This happens
through gross domestic capital formation, employment, trade and human capital. Good
infrastructure enhances productive capacity and improves competitiveness of a country. This is
ample evidence that infrastructure and output are mutually beneficial, That is, infrastructure

boosts output and higher output also leads to better infrastructure. www.prebd.com

The Padma Bridge is estimated 10 increase the GDP of the country by more than one per
cent. Tt will benefit about three crore people across 21 south-western districts of Bangladesh.
These districts will be connected with the growth centres through better connectivity. They can
be used as ecoriomic corridors. This ::“ ‘-':nﬂg;::ﬂ?ﬂl;mum for ‘J:mplnjrmml and income. The
transportation system will be improY - ent of people will be enhanced. Supply chains

_ﬂ;l_ﬂﬁ_mﬂ:l Goods and services will move smoothly from one

within the country will be conn
place to another. People from ;_j';:‘;‘wm’m parts are also expected to have better access to
5 B

education, health care and other _
Not only will people move :ﬂ l:::;l?lm“’,:mh iﬁ;‘:’;dﬁppumuﬁt'!m will also come to the rural
This will change the Tur2 = y undergoing transformation. The sha
areas T:.s wi the GDP of the cqunirr has declined significantly with the em:rgmr;:

of the agriculture se¢tor 1 ; i
in the rural areas This was facilitated by several factors including better

of ' (ivity:
communication and connee
[Please mrn over]
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In Roman mythology, althgugh H ycules was s S ampign of the wqak and a
great protector, his pe a I eBb h. Jl;Ent two witches to
prevent the birth, butfithe - 0 s.servants and sent to

another room. Juno then sent two serpents to kill him in his cradle, but Hercules
strangled them both. In one version of myth, Alcmene abandoned her baby in the
woods in order to protect him from Juno's wrath, but he was found by the goddess
Minerva who brought him to Juno, claiming he was an orphan child left in the woods
who needed nourishment.
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